WHE (f

0.001
0.0001

AT

(@)

o 0.03mSv/

(@)

0.1 /
(@]
154 REFIFEENCDOKMLEHT

& 1Tl —_ —mmm-m -m - -
> 0 T
o
L\n‘f 0'01 ;:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::: 7777 -
mlm“ 0001 B T rrtTrT 1= 1 - N 70 0 ]
1 Y - 9.043- 4.042- 0.p02 - 0:p04- 0903} ~0.p02 - 0 =2 EENE
ﬁ 00001 [ I [ 1 ] I [ | 1 1 1 |
~ 1
i
3 0.1
2 ?
LI oo v+ {1V = op] (Y "

&E 1 it b it e b bbb b i S b i Sl b S e b S e b S b A
3 S
2 001 b o __al >1_0p3] ] ros
‘\__: - ZZZZZZZZZZ=ZF=_=zZz=Zz=Z===32 f::::fffffffﬂoz === F == —= = 2 AT ZZ=Z=ZZ=Z=
Bl T - .- -0.006 -~ Z0.406(-=======1 (=== EE&ﬁﬁEEE%0259§ o=
gﬂ 0001 ,'0 ?:,'0 Q::: __ = —__ i :WE’: — ] - _ _ i —_
& 0.0001 H—— — — — —1 — — -l

H24458 H24%7R H244F9 R H24411 8 H25%E18 H25%38 H2545 8

o

Cs-134

Cs-137

F

Cs-134 ND

1.3%<10°°

0.1

1=<10"

0.009

/

Bg/cm?

Cs-134

Cs-137

210

ND

Cs-137 3%<10° Bg/cm®

2><107  Bg/cm®






